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15 A cinema has
37 rows of seats
23 seats in each row.

Tickets are £8 each.
The cinema has sold tickets for every seat.
15 (a) The manager estimates that £6400 was made from these tickets.

Use approximations to show how the manager did this.
[1 mark]
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15 (b) Work out the exact amount of money raised from ticket sales.
[4 marks]

Answer £

15 (c)  Use your answer to part (b) to check whether the manager's estimate was sensible.
[1 mark]
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12 (b) Jody wants to work out her yearly pay. | hia atatement previougly not give
She says,
“There are 4 weeks in a month, so | will multiply £315 by 4
There are 12 months in a year, so | will multiply the answer by 12
£315 x4 x 12=£15120"

=

1 her yearly pay?

No, her yearly
pay is more

No, her yearly
pay is less

Yes

ow working to support your answer.
[2 marks]

Previous question had two choices: Yes or No




